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slh
AT 6(e)

ug 1.
feifes o A A1d P, AfE x =7,y =3

M x+y C ®ix+y=T7+3=10

() 2x -y B 2-y=2x7-3=14-3=11

(i) 3xy W3y =3xTx3=63

(iv) 2 T 22 =2x (7)Y’ =2%x7x7=98

V) 5y T SH0y=5%(7)° x3=5xTx7x7x3=5145
Uy 2.

el fasbey Bifey (3fea)

(a}ufa‘z=3 A @) IR

- (21‘} —(2?:3) (2) x(3) =2x2%x2x3x3x3= (ﬂ}:]ﬁ
(b) M x=2,y=1 ﬁr(sxy) H A B

& (5xp)° =(5x2x1)? =(10)2 =10x10 = (i) 100

(c) Ok x=3,y=Lz=2 @ (Ju:+y-¢-:-:)2 A E

& (x+ y+2)? =3 +1+2)% =(6)* = 6x6 = (iii) 36

uY 3.
A x = 4 qUTy = 3 A U1 Rt & 3rrd Y YT 1t BT

2x+ y)&io

(3x ~ y)do

T
AT P To = (2x+y) = (2 x4 +3) =8 +3 =11 JHlo
A BT Ao = (3x-y) = (3x4-3)=12-3 =9 T



Y 4.
g a = 4 A1 153 ot & By & YolTd 1d SifoTe |

(3a+1) Ffto

o

YT BT YW = (2a + 1) JHlo, (32 — 1) Teilo TUT (3a + 1) Fiflo
= (2x4+1) o, (3 x 4 1) Jflo qUT (3 x 4 + 1) Jflo

= (8 + 1) THlo, (12 - 1) THlo TUT (12 + 1) YHto

= 9 qtito, 11 AHto YT 13 Tilo

YA 5.

gfe y = -1 A Solig WD 2y2 + 3y2 +y — 3 BT HA J1d DI
IS E

2y2 +3y2+y-3

=2x(-1)2+3(-1)2+(-1)-3

=2x1+3x1-1-3

=2+3-4

=5-4

=1

Uy 6.

gfd a=-2, b= 2 T c = 11 SoiT FolD 4a3 - 2abc + 3bc + b3 BT A 1A DI
IS E

4(-2)3-2(-2)x2x1+3x2x1+(2)3

=4(-8)+8+6+4

-32+8+6+4

-32+18

-14

ug 7.

gfq a = 3 T b = 2 A FHifehd &1 g Sifow |
(i) (@ + b)2 = a% + 2ab + b?

(a +b)2=a% + 2ab + b2 H a 3R b BT HF ITA W
(3+2)2=(3)2+2x3x2+(2)?

(52=9+12+4

25=25



L.H.S.=R.H.S.

(i) (a-b)* =a*-2ab+b*
(a-b)* =a® ~2ab+b* § g 3R b 7F WA W
(3-2)2 =(3)? - 2x3x2+(2)?
(12 =9-12+4
1=13-12
1=1
LHS.=RHS

(iii) a2 -5 =(a+bXa-b)

a® —b% =(a+b)a-b) ¥ a A bFH 9F T T
32_22 =(3+2)(3-2)
9-4 =(5)(1)
5=5
LHS.=RHS.





